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\ Solving Two-Step Inequalities )

Solving inequalities follows the same procedure as solving equations except when
multiplying or dividing by a negative integer, the inequality symbol flips.

example: 5x > 8x + 27 Ux + 3 < -1
-8x -8x -3 -3

-3x > 27 Ux <-4

-3 -3 4y

X<-=9 X < -1

Solve each inequality below.

1. 5y -3 > -18 2. 3x+11 25

3. -4b-4<8 4. -30+5<-16
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5.6x-19>5 6. -9y -11 <16
7. -5¢c-728 8. 40 +12>-8
9.2x-52>7 10. 9y -3 > 6
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ANSWER KEY

Solving Two-Step Inequalities )

1. 5y -3 >-18 2. 3x+1125
3 3 -no-n
5y > -15 3x=-6
5 5 3 3

y>-3 X 2-2
3.-4b-4<38 4 -3a0+5<-16
e el 5 IS
-up <12 -3a0 < -21
-4 -4 -3 -3
b>-3 az27

5. 6x-19>5 6. -9y -11<16
+19 +19 1o+ 1
bx > 24 -9y <27
6 6 -9 -9

x >4 y2-3

7. -5¢-728 8. 4ag +12 > -8
+7 %7 -2 -2
“5c 215 Ha > 220
-5 -5 4 4

c<-3 a>-5

9. 2x-52>27 10. 9y -3 > 6
) 3 *3
2x 212 9y > 9
2 2 9 9

X226 y>1
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